N

adidas

PERFORMANCE

HOME GYM
ADI-10250-

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling
this product.

ATTENTION! Veuillez lire I’Avis de sécurité important et le
Guide d’assemblage avant d’assembler cet appareil.

Assembly Manual Guide d’assemblage
120618




www.impex-fitness.com

©IMPEX INC.




é@h'ﬁ? <

x4 x4 .x2

9~ 1 801 @i« 4

©IMPEX INC. 2 www.impex-fitness.com




m O

5# x 1

6# x 2

o1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

mlwdm\WJHNWJUFMJUUMIm”mdHﬂm‘MMHIM\Hdm”HJM'MJMIWJHHWJH‘MJHHMLMHNJMHMJH
U U L
5” 61’/

D 1 " 2 ” 31’! 4 "

©IMPEX INC. 3 www.impex-fitness.com




( ) .
x1 O _:_;__.
(I n] |
q p /*j “é%”‘
&1 } b = .
AR =k .
99) x 2 \) =1
Q 7 M =
) ) =
@x10 @ =F _
tm () 2 -
x4 /Uj §—§§;
0 =E =
( : o
x 14 /A X
e 1
_/
82 x 1

mm

8 9 11 12 14 15

[l [l
L ‘ ||‘H|‘|||| ‘ || \I\l‘\l\]l“‘”l‘||‘||‘|\MHl‘\‘l““l“l\‘\“‘l‘l II\
17

27 3 47 5 ” 6”

0

CIMPEX INC. 4 www.impex-fitness.com




M10 x 3 3/8"
o

M10 x %"
M10

I

o~ o™ o <
X

®eO6

www.impex-fithess.com

©IMPEX INC.




M10 x 3 3/8"

M10
@

f—
(o 2
© |

6
6
6

CHORE)

www.impex-fitness.com

©IMPEX INC.




www.impex-fitness.com

©IMPEX INC.




M10x 3 3/8”

i — ]
= ©
© 8
© |

™ N N =

® @O0 «

www.impex-fitness.com

©IMPEX INC.



x31/8
2%

® v

- e — ha

222222
xxxxxx

cRoIcRORONE)

I

www.impex-fitness.com

©IMPEX INC.



M10 x 2 %"
M10 x %
@

M18

:_m@

- o ™~ ™~
x

@00 6

www.impex-fitness.com

10

©IMPEX INC.



) & |Illll.|l..' MA’

=/ /

.\ )
»V/w/////////////..

@
@ 5/8”
M8

www.impex-fitness.com

6
x4
2

®
@ =

@ =

®

M10 x %
M10 x 5/8”

11

©IMPEX INC.



M10 x 6"

@ x 1

M10 x 3 3/8"

[ — ]

(—

©

@ x 4

M10 x 2"

@) x 1

@ %"

@0 x 14

M10

124"

® x 1

www.impex-fitness.com

12

©IMPEX INC.



8-A

www.impex-fitness.com

13

©IMPEX INC.



o /
e _ N
8-C 5 -87)
@“@
J
8-B
8-C

©IMPEX INC. 14 www.impex-fithess.com



©IMPEX INC. 15 www.impex-fithness.com



10

©IMPEX INC. 16 www.impex-fitness.com



M10 x 3 3/8”
M10 x 1 1/8”

M10 x 1 %"

® 0 606 &6

1

www.impex-fithess.com

17

O©IMPEX INC.



Qo
- <
<~ <

<9

www.impex-fithness.com

18

O©IMPEX INC.



M8 x 3 3/8”

N

M8 x 1 5/8”
M8 x %"
518

N AN ©

® ® & @

/////////////«\

7 9
N
NI \llhlkﬂl.’.ﬂwyf

q | EENy \ = 7
SN

www.impex-fithess.com

19

©IMPEX INC.



M10 x 5/8”

(o
©

x12

7

x12

www.impex-fitness.com

20

©IMPEX INC.



www.impex-fithess.com

21

O©IMPEX INC.



www.impex-fithess.com

22

O©IMPEX INC.



O©IMPEX INC. 23 www.impex-fithess.com



IMPEX" INC.
2801 S. Towne Ave. Pomona, CA 91766

Tel: (800) 999-8899
www.impex-fitness.com

info@impex-fitness.com




	assembly-1.pdf
	ADI-10250-I-2 assembly manual



